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— =X 50,0003 »42=+1H 2,100
— X 50,0003 *10& +x1H 500
—2HAH] 3,000 *210€*x1H 630
— St ZEX II=H] 100,000 *1H 100
201 fEt2dd| 6,510 6,360 150
01 At 22l 6,510 4,360 2,150
Oggt=gH| 3,810
— SIS AAESES S MAHN A
120 *7,0000H 840
— SRS EUINE 40,000% =184 720
—stedlz s S5 25,0002 x10& 250
—ster Al 2 A D[ D] 200,000+10& 2,000
Oo2g=¢ 2,700
—StEIEua & 35,000& *602] 2,100
—sted=0tna & 150,000 & 43| 600
307 21Ztol ™ 43,900 43,900 0
01 =¥ =H] 43,900 43,900 0
Ostetdlg oJA%FE 43,900
— St Z oA F 40,000
— st A IR 25,0003 138+ 12K E 3,900
HE2IHH (L) 108,456 96,516 11,940
EEE 108,456 9,516 11,940
Jl2dl (XA 108,456 96,516 11,940
201 L2 21,656 19,656 2,000
01 AR 2t eld| 21,656 19,656 2,000
Oget=gH| 21,656
—2M2E01=23| 21,656




SN
HH: HH2HFY(ASD])
SETRSIEES

- _ _ HEE
SN EHH . H(EH) - NEAY - BES Off & o Ol & o8 HluSZ
202 04l 79,800 72,600 7,200
01 2ol 53,400 46,200 7,200
O=WHxHI 53,400
02 EH0HI 26,400 26,400 0
O A0 26,400
203 ¥Rl 5,500 4,260 1,240
04 FEAEEERFEH 5,500 4,260 1,240
ORANSIYREX 4,260
OF AR FAY| 1,240
405 KtatE =l 1,500 0 1,500
01 A&t =S FSHI 1,500 0 1,500
OCIXIETV(1T) 1,500
HRES(22) 22,000 53,650 A31,650
2EXS 22,000 53,650 A31,650
SEXNS(XH) 22,000 53,650 231,650
802 Brat=J|Et 22,000 53,650 231,650
01l =2X=Ees 22,000 43,350 A21,350
OXIH Xl =22l 22,000




